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SUMMATIVE ASSESSMENT - Il
MATHEMATICS / Tfora

Class - IX / =8t - IX [SQQ“B]
fruifa w3 :3-3% que afueram 3/ £ 100

Time allowed : 3-3% hours Maximum Marks : 100
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General Instructions:, “

(1) All questions are com.;;.,m‘-,y

(ul The question paper consist® gflzq Hons di ded into five sections A, B, C .0 and E.
Section-A comprises of 4 que,‘.‘figm : lmark b Section-B comprises of 6 questions ot 2
marks each, Section-C comor:svs(o' ! }-;ﬁijé_;P 15 of 3 marks each and Section-D comprises of
11 questions of 4 marks each Section E uf.lil[\?'ﬁ:\e?_‘l‘lf one question from Open Text theme
of 10 marks.

{1} There is n0 overall choice

(v Use of calculator 1s not permitted

FUT W/ SECTION-A
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Question numbers 1 to 4 carry one mark each

i

W@ﬁmmmmmﬁmﬁhpw%m,x‘.*r..w e
s fom § 2 TR R Q0 TR

Write the inear equation representing a lineé which 1s parallel to y-axis ana is at distance of 2
unts on the positive side of x-axis

. = F v w6 AR fEs wEE ;S F fE youm F OREER ST y-dM T
aré s 2 @ W T W
Write inear equic/ nting a line whchis paiallel to y-axis and is at a distance of 2

units on the left side O
3 mﬁ, PQRS#TAQBC:E%.\ -~k n . 7.\\-}:‘?—'!#{‘.

S R
!I ;'
P A Q

In the ﬁgure, PQRS and ACBC are jf-ll’-l]l- o oranme 1t S= U '-:5,/&
S R (

;
|
| B
P A Q
P 7= o w1 w0 T3 cm €1 VEE SR 7T WA

The dugoml »f a cube 1s V12¢m Find its ' olume
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WU~ -A [ SECTION-B

VI W@ S H 10 § USTF F1 2 4F 2

Question numbers S to 10 carry two marks e « h

TFAE P QRMSATM AT ARG MFZ (7 TZ_SOQ=130F TS F AT

In the fngure. O s centre of 0 assing  theougt Q R and S
If £90Q =157, find the v alues ot 1 and

6 vw fEw & witvg fag w5 @ e 0 e

Construct an angle of 135" at the imtial | ontoba ven ran

/ PQRSWWW?WWI R Qs TEW TR ERAE T 4 (ASEP) e ar 2

AQER) = 12 ¢m2®, A wR FANF PQR - T FF T F A

PQRS 15 a parallelogram with diagonals R and (S intersecang atapowrt £ 2 ar ASED)

+ar

ige 3of 13
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(AQER) = 12 em?, find area of parallelogram PQRS

8/ & AAaFR g 1 fmR 150 m & Sz rmr e i R R R R e 0 F T A
TR 9000 ¥ ¥, A Tran F FA 7 A

The floor of rectangular hall has a perimeter 150 m It the cost of painting the four walls at the
rate of Rs 10 per m? 15 Rs 9000, hind the hoight of the wall

9 / WmaER & ¥R ¥ 9 faufefd gro wia fay sf@ w14 fao #

14,25,17,2 zogswi.sai‘rm
W AR F A WF JqA AT

Given are the scores (out £ idents 1n a Mon day test

14, 25,17, 22, 20,19, 10, 8 and 23

Find the mean score and median score

10 W‘Hﬁaﬁﬂamm fadwhamr o o --
E i A efegw wn A v e wta w0 ctoe e .

On checkmga trunk conmtarmung urns, o foarwd 0
defective. Find the probability of select urn al

TATE 4/ SECHONC

UV W& 11200 Y% #13 9F &

Question numbers 11 to 20 carry three mark, ¢ . h

i TE T W A30)B0.2 C-3 () S p0-2) F s s
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AﬁBﬁ.B?%C:CnDn}hDﬁAﬁfm?‘a‘j‘i?
ABCO T30\ #M ABCO 7% ww=mg® 7 AC M BD F fm mewww W@

Plot A(3. 0). B(0, 2). C(~3 0) and D(0. - on agraph paper JonAtoB 3to C CtoDana D
to A to form a quadniateral ABCD Is AE D s rhombus ?

Also write the equations of AC and 8D

B mimm 3y .15-0 F (a) TF WM 1 W p) @ W AA FEEC F ORI F AT
f=wm #wifAu)
Give the geometric interpretation of eq: iton 3y - 15 = 0 asn eguation i (a) one vanable (b
two variables.

13 F0 AGF
(1i) 140° & FT0 F1

.ZF' ractor .ow construct angles ot (1) 35 (u 14U using
1}/ 3 ] . )\
QEFT F HEEA R 52— ¥ FT AT )\
2

Uusing Hipas iy O
.. e o
15 Wbcmm'mi\" w | ™ O3 MY _.4( e PQ W T

Draw an angle of 70" with
compass

td | —

Construct angle of 52

gufzuraE @ R TR v mt

' v perpendiculs wnt ' Name itas - Also
Draw a line segment PQ of length & cm nStruct perps nd ular at point U N
construct perpen.h alar Bisector  PQ Nomoatasm s m

16 ﬂdmﬁoq’qmé‘elﬁ‘fz‘ﬂ o OBC=yt A fag ®tum fE - =0 ®

' ! B OBC =y, prove that
In the given higure O s the centre . the are It _BAC=1x and ~OBC =y, prove tha

Page sof 13
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17 AQRS F1 T HifAT, afe 7eF TEET 10 om AT ST FIV /R=45"3 £5=
Construct AQRS, if its perimeter 1s 10 am and base any les are £R = 45 and

18 T# 39 A g AR F e FOFE r¥aR #1AM 37 cm 7
. ST 1628 cm2 A, A ATE F FTA T 7 0

The sum of the base radius and the heightcra solid nzht aircular cvlind
surface area of the cylinder 1s 1628 cm? then find the volume of the cvling

x./

19/ Hﬁ?wm Ty T R T 7

75, 69, 88, 35,95, 88,7 3

@ HFg F TaAF {7 A T /<
The scores of an English test (o )\O ate gaven bulow

75, 69, 8855, 95, 8%, k7

Find the median and e f U 0

¢’0 :q'ﬁqﬁﬁ']r'r W1 ¢ F F O'HWF Ot 3tH 4
| s zv Jsr
- I _
10 ‘4 14
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A purse contain a number of Rs 1, Rs 2 and Rs 5 coins 2s given below

Rs 1 F- 2 Rs 5
10 14 14
1 from the purse a coin i1s take out at ‘andom then fing the probability

that the con

ajisnotaRs Ycon

b)sa Riy-

47

® /| SECTWON-D
TR TEN 21 W3 0 TUE g 0w P O
Question numbers 21 10 31 carry four mars  ad @/

20x + SOy = 200 W TF 3y g frsfen a7 ey & Prlvew i, e frem R :

L]
—

1! ¥R ) ¥ . -]

Represent 20x « SOy = 200 by a graph Wr - the coc'cnates of the point where it meets

a X avs (b y

2 R FNE TR R SR, I T S ¥ T Tyt uv TR o e W T 4
s wuw k:gq;‘r;‘z‘r‘*i‘af‘ - ¥ “OF gEww ¥ ®u d fatge @ wEEm v
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R/ Wi frefe wife s«‘#@nwama:mwmﬂﬁmﬁmwr

g ) atot b A h L the
4 : f irls 15 15 more than 1
| $s, r f lr‘S s xa d that ¢ Oy ISy 150, the number 0 ' i "

nables
number of boys. Wrte the gven data n the form of 1 lnear equation in two varl
()
represent ¢ graphicalt, £ind graphically the nun ber of g, if the number of boys 15 2

!\fﬁ?*ﬁﬁﬁ'{ﬂf%’nﬁ?mrmmm?l g &a @ W@ F A AT

: ]

ﬁmﬁ#?ﬂﬁhvd yogaE’ AT ¥ fan 2 e My G A e B At
i 1 . ' T
forel, strfr & Qe SYER, TR F fAM UE T HE et @1 FE g @M T FL O

. l . 2 3F =af '.r‘,- i
¥zt w oF w3 fam AR A8 C oD @an @y Mg I & A A AT

1.\D—K)?tmv:a$maﬁ?ﬁqm-ﬂ—: s

T etw two teams [ he proceads of thus i)
: t oty s Randwapped chuldren The e
will be given for the aid to the " } I ) i*; i e
. e . 11l,.|. o i . ngure ot spwa taty r~ e s the « v
rcular with a nng Cf wrulonm widt | sy
” " i 1! (Y 4 D Iving ina stra hts ane o roy
the field and four poles are tived at px .
1
-
AB = CD= =

(A'-’" - m‘“ \\h“ hv alue 1 17 MY 4dBiY nis \ilLl"-liL'l\
w i ::)
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l]lm and they are . d b 2 tran s A
Y ntersectec Dy 3 tansvers Shov tmat the gquads ateral formed by the bisectors

-

of the interior angles so for~e2 13 rectang

AABCHF I BC®R AL TwF &, DT 7 [ EWwWN k& Ap=tD * 772 3

ar(AABC)= 14 cm? & # 4 ADECIFA T 7T

4

[n AABC, AD s the median to side BC,E 1s » point an AD such that A:=ItD
(AABC) =144 cm?, find ar ADEC

26 & @Evs PQ=8.-|:_‘:‘:" '3‘"'=- T 3 TFNF SgET R OoF 9N G0dd I F1ra0 2

™

Draw a line segment PQ =5 4 cm Divade 'Q inte tour equal parts using

ruler and compass

27 ‘Fﬂﬁ.%cm_-la& WARTE T AR F Ty m T o W T Tl

FU IR F AR 3

A nght angled JABC w70 »¥

Find the volum=of the & 1, (2 } 14] area Of the s i
8 12 ¢cm fi?ﬂ r‘, é’fﬂ aarET™2W v A 0’ = § 2 TR *""0 W ™ Src AR Y
y A - )

S B allz it Al R A

A sphencal sohd of ro: T w three small solid

i o : s 7 ' B Y _|\\ ]
sphencal sthrcs of ditt-rent 5.3 Ui rad o ./n- v or and 8 om, hnd the
radius of the thurd spher 4<
4

v 8 T OTE TRl AR AW ARG AFR @ o 4

29 = om R 3 1/2 cm ¥ 100 773 #R
&ss t1 CIIL are placed one above the other to

100 circular plates, each f radius Tam  d thuch e

torm a solid nzht circular ~vhindzr Fino ne total surtace area and volum

’

iy 4
b \
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30. T )

‘e given tatle shows the mo 'n of birth of 40 students of class X Of a
paricular section in a school

Month of Birth  Number of Students
January Y@} -
/
February 4/
; March @)
April E4

(/0 May £

O/V/( }‘é

Cer temDes
- C1ODE -. a @/
November (-l

U

the probat ity that the student s

Decembet A

if one student 's chosen atra ‘om fie
bom

- 1a) n the later ha!f of the year
(b) n the months having 314 1,5
(C) n the month having 30 da <
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31 mﬁmm%ﬂ\ﬁllﬁ?{@ﬁmwﬂ% 4 frertamga @ a9 T

36,55, 12,110, 14, 72, 69, 20. 18, 25,0
T AFE F w, waw st wmew @ i

The following runs were scored by all the 11 players ot a cricket team during a match

36, 55,12, 110, 14, 72, 69, 20, 18 25 0

Find the mean, median and mode of the dat.

TUE-T / SECTION-E
J (H=F 977 /Open Text)
(* Please ensu n c\l of the ginven theme i+ supphied with this  question paper
32 Theme-il (Adventufe

(a) wﬁﬁtf‘wﬁvtwrr

(b) swaTweEt, Frefiw famtenr A7 !'0:?'4-“‘! ey TTeTTT qE AT
&1 wrfasaT ary #rfom & o - }
(i) o faremit 2 0/9
(i) ff¥me & 7% v owren B /

() FATHR frams o snierareTs aon b mnxt.rmwvm(

(d) W UTREW F hrgTET AR 7 s ama o Aty Rmaw d tr e 4
Broar 7m &1 aeg & mw =3 ¥ B v amp o o &t wrx A

(a)  Which skills are developed in the ad\enture c3mp?

(b)  From teachsrs. students. Brigadier & Brigadier's team a perscn IS

at random Find the probability that the . elecled person is

Fage 12 0113
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(1) @ student

(1) @ member of Brigadier's te.im.

(¢) Calculate the ratio of volume «f drink served in cylindrical glass A

hemisphencal cup.

(d) From the open text materials « 1lculate the height of conical tent when ' s
given that radius of base is 7m. Als find volume of arr availaole for one person
In the tent
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